
Simplify the radical expression. Assume that all variables represent nonnegative values. 

1. 4 256  2. 3284
zyx  3. 3 750  

4. 2125180 yx  5. 5 114080
zyx      

6. Approximate 326  to the nearest thousandth, using a calculator. 

7. For ( ) 2242
−+= xxxf , find ( )10−f . Round to the nearest thousandth. 

8. Find the domain of ( ) 934 −+= xxf . Express your answer in interval notation. 

Add or subtract.  

9. ( ) ( )51614814354 −−−   10. 2009181386 +−  

Multiply.  

11. ( )511371512 −    12. ( )( )31126235 −+    

Rationalize the denominator and simplify.  

13. 
745

6

cba

ab
     14. 

52113

104

+
    

Solve. 

15. 1119137 =++x    16. xx =−+ 3133     

17. For the function ( ) 34082
−++= xxxf , find all values x for which ( ) 2=xf . 

18. A pendulum has a length of 3 feet. Find its period, rounded to the nearest hundredth 

of a second. Use the formula 
32

2
L

T π=  

19. Express 126−  in terms of i . 

Add or subtract the complex numbers. 

20. ( ) ( )ii 12561 −++     21. ( ) ( ) ( )iii 20106529 −−+−+−   

Multiply. 

22. ( )( )ii 10825 −−     23. ( )2
310 i+     

 Rationalize the denominator. 

24. 
i

i

59

6

+
      25. 

i

i

5

103 +
        

26. Simplify 65
i .    


